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Part – I 



Marks: - 15 

Q.1: -  
  (a)
Choose the correct answer of the following statements. 
i. The sum of four angles of a trapezium is ____________
     a) 2π
b) 3π 
c) 
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     d) 4π
ii. A six sided figure is called ___________________  
a) Square   

b) Octagon  
c) Hexagon  
 
d) Pentagon  
iii. Perimeter of a circle is its ________  
  a) arc     b) radius     c) circumference     d) diameter.
iv. The magnitude of the unit vector is _____________   
a) zero 
  b) 1    
c)
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d)  2
v. A column matrix has the number of columns ____________ 
a) Two 
b) Three 

c) One

d) Zero
(b) Fill in the blanks. 

i.  Each angle of an equivalent triangle is _______________. 
ii. Interior angle of a hexagon is _______________. 
iii. Portion of the circle enclosed between two radii & the arc between them is _____ . 
iv. Every rule does not give exact calculation but _________________ of the area. 
v. Scalar is a quantity which has only _________________. 
 
( c ) 
Choose the correct Answer of each statement in Column No-I from Column 
No 2 & rewrite in the blank space given in Column No – I.  
	
	Column – I 
	
	Column – 2 

	i)
	Surface area of a ball of radius 
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 is _______________
	a)
	 π r2h 

	ii)
	Volume of Cone is ________________
	b)
	4

	iii)
	Volume of a circular cylinder of radius r &  height h is __________________
	c)
	0

	iv)
	Total number of diagonals in a rectangular solid is ______
	d)
	4 π r2

	v)
	If two rows or two columns of a determinant arc identical then value of the determinant is ________________
	e)
	1/3 π r2h

	
	
	f)
	2 π r2

	
	
	j)
	3


*****************************
Khyber Pakhtun Khwa Board of Technical Education Peshawar

Diploma of Associate Engineer 
Ist Year Auto & Diesel / Auto & Farm/ Civil/Chemical/Mechanical/Architecture/ RACT / Food / PET/PMI/Dies & Mould Technology (New Course)
Annual Examination 2012
Paper: - Applied Mathematics – I (Math– 113)
 (Paper –B)
--------------------------------------------------------------------------------------------------------------------- 

Time Allowed: - 
02 ½ Hours 





Max. Marks: - 60
 Part – II
Note: - 

Attempt any Six questions. All questions carry equal marks. 
Q.No.2: - 
Find the area of the triangle whose sides are in the ratio 9:40:41 & whose 
perimeter is 180 meters. 
Q. No.3: - 
A track round the inside of a rectangular grassy plot 40m by 30m occupies 600 

sq.m. Show that the width of the track is 5m . 
Q.No.4: - 
A regular octagon circumscribes a circle of 2m radius. Find the area of the 

Octagon.  
Q.No.5: - 
The interior diameter of a circular building is 51m and thickness of wall is 2m. 

What is the area occupied by the wall. 
Q.No.6: - 
Find the area of the curve y = x2 between the values x = 1 and x =7. 
 Q. No.7: - 
A cylindrical tank has a capacity of 12320 cu-m. Find the depth of the tank if the 

diameter of base is 28m. Also calculate cost of painting inside the current surface 

at a rate of Rs. 5 per sq meter.  
Q.No.8: -  
How many lead balls, each radius 1cm can be made from a sphere whose radius is 

8cm?  
Q.No.9: - 
Let  
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 and its unit 
vector. 
 Q.No.10:- 
Use cramer’s Rule to solve the following system. 


4x +8y+z = -6;  2x-3y+2z = 0; x+7y-3z = -8
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